| Efficiency vs Dxy |

0.2
X
©
#.18
>
D.16
D
D.14
©
0.12
0.
0.08
0.06
0.04
0.02
0

....................................

...........................

1

Ratio

0.9
0.8
0.7

................................

...........................

ET55-15-10 =5 0 5 10 15 20 25
TP dxy (cm)

| Efficiency vs Dz |

.05
©
&o45
Py
P
O
€035
()
0.03
0.025
0.02
0.015
0.01
0.005

—=— DQM_V00UI_RO0000000T_Global
—e— DQM_V0001_R000000001__Global
—+— DQM_V0001_R000000001__Global

CMSSW_ot1g
CMSSW_plo8
CMSSW _pl075

o+
=

20
TP dz (cm)

10

30

—— DQM_V0001_R000000001__Global__ CMSSW_pl07




	Contents
	Page 1


